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>> sm=sumstats(x(:,2),x(:,1))

sm =

           16       5.2562      0.97909

           16       7.6625       1.1471

           13          5.1      0.70946

           16       6.4125       1.1888

           14          4.8      0.67596

           15         6.86       1.1141

>> [f,pv,ssa]=aov(sm)

f =

        19.29

pv =

  9.7322e-013

ssa =

       97.219            5       19.444

        84.67           84        1.008

       181.89           89       2.0437

>> dfe=ssa(2,2);rmse=sqrt(ssa(2,3))

rmse =

        1.004

Does Group2 appear to be different from Group6?

>> i1=2;i2=6;

>> tprob(0,rmse*sqrt(1/sm(i1,1)+1/sm(i2,1)),dfe,abs(sm(i1,2)-sm(i2,2)),99)

ans =

     0.014414
But this is without the Bonferroni correction

>> tprob(0,rmse*sqrt(1/sm(i1,1)+1/sm(i2,1)),dfe,abs(sm(i1,2)-sm(i2,2)),99)*2*15

ans =

      0.43243
So the p-value for comparing 2 to 6 is not that small

>> i1=2;i2=1;

>> tprob(0,rmse*sqrt(1/sm(i1,1)+1/sm(i2,1)),dfe,abs(sm(i1,2)-sm(i2,2)),99)*2*15

ans =

  2.3559e-008
We CAN conclude that Fiber1 is different from Fiber2
But HOW different
Calculate the tail probability using Bonferroni, but not the factor of 2, since we only want the prob in ONE tail

>> bisect(@(d) tprob(d,rmse*sqrt(1/sm(i1,1)+1/sm(i2,1)),dfe,-99,(sm(i1,2)-sm(i2,2)))*15,.025,-9,9,.00001)

ans =

       3.4787

>> bisect(@(d) tprob(d,rmse*sqrt(1/sm(i1,1)+1/sm(i2,1)),dfe,(sm(i1,2)-sm(i2,2)),99)*15,.025,-9,9,.00001)

ans =

       1.3337

>>
We are 95% confident that mean2 is at least 1.33 and at most 3.48 units higher than mean1.

